
1.Select the correct mirror image of the

given combination when the mirror is

placed at MN as shown.

दिए गए संयोजन के सही िर्पण प्रदिदबंब का चयन

कीदजए जब िर्पण को MN र्र रखा जािा है, जैसा

दक दिखाया गया है।
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Q.1 In a certain code language, ‘APRON’ is 

written as ‘CNTMP’ and ‘EARTH’ is written as 

‘GYTRJ’. How will ‘HEAVY’ be written in that 

language?

एक दनदिि कूटभाषा में, 'APRON' को 'CNTMP' और

'EARTH' को 'GYTRJ' दिखाजािा है। उसी कूटभाषा

में 'HEAVY' कैसे दिखाजाएगा?

a) JCGUS b)

JGUTA

c) JGCTA d)

JCCTA



Q.2 Select the option that represents the

letters that, when placed from left to right in

the given blanks, will complete the letter

series.

उस दिकल्प का चयन कीदजए जो उन अक्षरो ं को िर्ापिा

है दजसे जब दिए गए ररक्त स्थान में बाएं से िाएं रखने र्र

अक्षरश्रंखिा रू्णप हो जािी है।

D E _ W G _ E F _ G D E F U _ D _ F T G

a) F D G V E b) F D V

G E

c) D F F E V d) D F V

G F



Q.3 Select the correct combination of

mathematical signs to replace the * signs and

to balance the given equation.

* दचह्ो ं को बििने और दिए गए समीकरण को संिुदिि

करने के दिए गदणिीय दचह्ो ं के सही संयोजन का चयन

कीदजए।

34 * 4 * 15 * 51 * 27 * 9 * 40 a) +, ×, −, =, ÷, +

b) −, +, =, ×, −, +

c) +, −, =, ×, ÷, −

d) ÷, −, ×, =, +, −



Q.4 If 28 February 2017 was Tuesday, then 

what was the day of the week on 28 

February 2019?

यदि 28 फरिरी 2017 को मंगििार था, िो 28 

फरिरी 2019 कोसप्ताहकाकौनसा दिनथा?

a)

Thursday/गुरुिा

र

b)

Saturday/र्दन

िार



Q.5 How many triangles are there in 

the given figure?

िी गईआकर दि में दकिने दिभुज हैं?

a) 24

b) 26

c) 28

d) 30



Q.6 Seven friends M, N, O, P, Q, R and S, each has a 

different age. Only two people are older than Q. P is 

older than Q but younger than O. M is older than R 

but younger than S. Only three people are younger 

than S. N is the youngest among all. The age of how 

many persons is between the ages of Q and R? 

साि दमिM, N, O, P, Q, R औरS, प्रते्यककीअिग-अिगआयु

है। केिि िोव्यक्तक्तQ से बडे हैं।P, Q से बडा है िेदकनO से छोटा

है।M, R से बडा है िेदकन S से छोटा है। केिि िीनव्यक्तक्तS से

छोटे हैं।N सभी में सबसेछोटा है।Q औरR कीआयु के बीच

दकिनेव्यक्तक्तयोंकीआयु है?

a) 1 b) 4 c) 3 d) 2



Q.7 Select the correct mirror image of the 

given combination when the mirror is placed 

at MN as shown. 

दिए गए संयोजन केसही िर्पण प्रदिदबंबका चयनकरें

जबिर्पणकोMN र्र रखा गया है जैसा दकनीचे िर्ापया

गया है।



Q.9 If 09 April 2023 is Friday. What will be 30

April 2023?

09 अपै्रि 2023 को रु्क्रिार है। 30 अपै्रि 2023 को

कौनसा दिन होगा?

a) सोमिार/Monday

b) र्दनिार/Saturday

c) मंगििार/Tuesday

d) रु्क्रिार/Friday



Q.9 Which letter-cluster will replace the

question mark (?) to complete the given

series?

िी गई श्रंखिा को रू्रा करने के दिए कौन सा अक्षर-समूह

प्रश्न दचह् (?) को प्रदिस्थादर्िकरेगा?

XAPE, BIBU, ?, JYZA, NGLQ

a) YDVQ

b) PSFZ

c) FQNK

d) QNAR



Q.10 If M denotes ‘−’, N denotes ‘÷’, O denotes

‘×’ and P denotes ‘+’, then what will come in

place of ‘?’ in the following equation?/

यदि M का अथप '-' है, N का अथप '÷' है, O का अथप '×' है

और P का अथप '+' है, िो, दनम्नदिक्तखि समीकरण में '?' के

स्थान र्रक्याआएगा?

(38 O 13) N 19 M 27 P (38 O 3) P 43 M 68 = ?

a) 82 b) 88 c) 92 d) 90



Q.11 Which of the following numbers will

replace the question mark (?) in the given

series?

दनम्नदिक्तखि में से कौन सी संख्या िी गई श्रंखिा में

प्रश्न दचह् (?) को प्रदिस्थादर्िकरेगी?

8, 16, 13, ?, 47, 282

(A)58

(B) 48

(C) 52

(D) 55



Q.12 Which of the following numbers will

replace the question mark (?) in the given

series?

दनम्नदिक्तखि में से कौन सी संख्या िी गई श्रंखिा में प्रश्न

दचह् (?) को प्रदिस्थादर्िकरेगी?

199, 211, 196, ?, 193, 217

a) 205 b) 214

c) 207 d) 210



Q.13 Select the option that is related to the fifth

number in the same way as the second number

is related to the first number and the fourth

number is related to the third number.

उस दिकल्प का चयन कीदजए जो र्ााँचिी ं संख्या से उसी

प्रकार से संबंदिि है दजस प्रकार से िूसरी संख्या, र्हिी

संख्या सेऔरचौथी संख्या, िीसरी संख्या से संबंदिि है।

19 : 80 :: 23 : 96 :: 16 : ?

a) 76 b) 68

c) 70 d) 62



Q.14 Pointing to the woman in the picture, Jitendra  

said,” her mother has only one grandchild whose mother 

is my wife “.How is the woman in the picture related to 

Jitendra ?

िस्वीरमें मदहिाकीओरइर्ाराकरिे हुए, जीिेन्द्र नेकहा, "उसकीमााँ

की केिि एकर्ोिी है दजसकी मााँ मेरी र्त्नी है"। िस्वीरमें मदहिा

जीिेन्द्र से कैसे संबंदिि है

(A) COUSIN

(B) WIFE

(C) SISTER

(D) DATA INADEQUATE



Q.15 Select the Venn diagram that best illustrates

the relationship between the following classes.

िेन आरेख का चयन करें जो दनम्नदिक्तखि िगों के बीच के संबंि

कोसिोत्तमरूर् से िर्ापिा है।

Fruit, Apple, Vegetable

फि, सेब, सब्जी



Q.16 Select the figure from among the given options

that can replace the question mark (?) in the following

series.

दिए गए दिकल्पों में से उस आकर दि का चयन करें जो दनम्नदिक्तखि

श्रंखिा में प्रश्निाचक दचन्ह (?) को प्रदिस्थादर्िकरसकिी है।



Q.17 A paper is folded and cut as shown. How

will it appear when unfolded?

नीचे िी गई आकर दियो ं में कागज को मोडकर काटने का

क्रम दिया गया है। यह कागज खोिने र्र कैसा दिखाई

िेगा?



Q.18 The second number in the given number pairs is obtained by

performing certain mathematical operation(s) on the first number.

The same operation(s) are followed in all the number pairs,

EXCEPT one. Find that odd number pair.

दिए गए संख्या युग्ो ंमें िूसरी संख्या र्हिी संख्या र्र कुछगदणिीय संदक्रयाएाँ

करके प्राप्तकीजािी है। एककोछोडकरसभी संख्या युग्ो ंमें समान संदक्रयाओं

काअनुसरण दकया जािा है। दिषम संख्या युग्ज्ञािकीदजए।

a) 8 : 64

b)8 : 512

c) 6 : 216

d) 4 : 64



Q.19 A paper is folded and cut as shown below. 

How will it appear when unfolded?

एककागज़को नीचे दिखाए गयेक्रम केअनुसार मोडा

औरकाटा जािा है।खोिने र्र यह कैसे दिखाई िेगा?



Q.20 If I denotes ‘÷’, J denotes ‘×’, K denotes ‘−’ and

L denotes ‘+’, then what will come in place of ‘?’ in

the following equation?

यदि I का अथप '÷' है, J का अथप '×' है, K का अथप '-' है और Lका

अथप '+' है, िो दनम्नदिक्तखि समीकरण में '?' के स्थान र्र क्या

आएगा?

37 L 25 K (14 J 2) L (2 J 13) K (62 I 31) = ?

a) 58

b) 56

c) 60

d) 62
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